Home work 8 sample solution
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(P=Q)N(Q@=R)=(P=R)

It’s tautology. The truth table is in the following:

P Q R|P=Q Q=R (P=QANQ@=R) P=R
T T T T T T T
T T F T F F F
T F T F T F T
T F F F T F F
F T T T T T T
F T F T F F T
F F T T T T T
F F F T T T T
(P=QN(@Q@=R)=(P=R)
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It’s contingent. The truth table is in the following:
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“(PV(QAR)) < (PVQ)A(PVR))



It’s a contradiction. The truth table is in the following:

P Q R|QAR PV(QAR) —~(PV(QAR)) PVQ
T T T T T F T
T T F F T F T
T F T F T F T
T F F F T F F
F T T T T F T
F T F F F T T
F F T F F T F
F F F F F T F
PVR (PVQ)AN(PVR) “(PV(QAR) < (PVQ)AN(PVR))

T T F

T T F

T T F

T T F

T T F

F F F

T F F

F F F
Q3:

The full conjunctive normal form for f is:
(PVQVR)A(PV=QVR)A(PV—-QV-R)A(-PVQV-R)A(-PV-QVR)

Q4:

Proof:

1. P=Q premise

2. Q=R premise

3. R=P premise

4. Q=P 2,3,HS

5. P& Q 1,4, Equivalenceintroduction
Q5:

proof:

1L.PAQ premise

2.0 1, Lawo f simpli fication
3.PVQ 2, variantof Lawo f addition



